REEER

M
AC
=)
&
=

A10140 | &1t

) EEFICLERBRD
| REBBAbHBUETD
TIREBLE L

H@o
il h)

SGPERNKEEXM/N K,

@ A10139R /N> RIIZTA10312RA & > 15 €y b L85, (150AET)

@350ALLE I3 BHEMR,
@S HER D - FE LS,

@mEI—F A10140 B2 B4 (nm)
YA | @ | WHUE | BAENE | | o [WALN] [ |, [RELE] AH
-k | @ | ® | WP ser) ExE z |
0010 10A % 17.3 1.8 25 | M 6X20 | 26 | 63| WZ% | 500
0024 158 | % 217 | 18| 25 | M6x20 | 26 | 65| W% | 180
0471 | VP20 V-20 26.0 1.8 25 | M 6X20 | 26 | 67| W% | 200
0039 20A [ % 272 | 1.8| 25 | M 6x20 | 26 | 68| W% | 160
0217 VP25 | V-25 320 | 1:8]25 | M6x20 | 26 | 70| W% | 200
0043 254 | 30 [18]25 | M6x20 [ 26 | 71] w% | 160
0221 [vP30 | Vv-30 380 |18|25 | M6x20 | 26 | 73| W% | 170
0058 32A 1% 42.7 1.8 25 | M 6X20 | 26 | 76| W% | 140
0062 | 40A | 1%, 486 | 18|25 | M6x20 | 26 | 79| W% | 120
0077 50A | 2 60.5 | 1.8| 25 | M8x25 | 26 | 84| W% | 100
0081 65A 2% 76.3 23|25 | M 8%x25 | 26 | 92| W% 90
0096 80A 3 89.1 23|25 | M8x25 | 26 | 98| W% 80
0109 90A 3% 101.6 23|25 | M 8%x25 | 26 | 105| W% 70
0113 | 100A | 4 1143 | 23| 25 | M 8x25 | 26 | 111| W% | 70
0128 125A 5 139.8 32| 32 | M10X30 | 36 | 145| W) 30
0132 150A 6 165.2 32| 32 | M12x45 | 36 | 157 | W 25
0147 | 175A | 7 1907 | 45| 32 | M12x45 | 40 | 175| W'
0151 | 200A | 8 2163 | 45| 38 | M12x45 | 45 | 189| W'
0166 250A 10 267.4 6.0 | 38 | M16X50 | 55 | 243 | W%
0185 300A 12 318.5 6.0 | 50 | M16X50 | 65 | 278 | W%
019 | 350A | 14 35.6 | 6.0 | 50 | M16x50 | 65 | 290 | W%
0202 400A 16 406.4 6.0 | 50 | M16Xx50 | 65 | 315 | W

) EEFICSWERESD
| BEBBALHIETD
TR LS

#@b
BhIEEEAT

5w

A10199 | RFV B a1t

272 L AHE (ENE) AOKRELHR/N K,
@ A10198R 7> MmN RIICTA10316X 7> mB4 & &

EAGN
@350ALLE I35 Emo
@SUS 3044,

v b U= 85 (150A

mBEI—F A10199 XFrmafF BT ()

BAX | B | BOR | o ppemprs #ATRIL b MmN AR
0017 | 15A | % 217 |20] 25 [ M6x20 | 26 | 65 W% | 180
0021 208 | % 272 | 20| 25 | M6x20 | 26 | 68| W% | 160
0036 25A 1 34.0 20 25 | M 6X20 | 26 | 72| W% 160
0055 | 32a | 1% 427 20|25 | M6x20 | 26| 76| W% | 140
0060 40A 1% 48.6 20 25 | M 6X20 | 26 | 79| W% 120
0074 | 50A | 2 605 |20| 25| M6x20 | 26| 85| W% | 100
0089 65A 2% 76.3 23|25 | M8x25 | 26 | 92| W% 90
0093 80A 3 89.1 23|25 | M8x25 | 26 | 98| W% 80
0106 90A 3% 101.6 23|25 | M8x25 | 26 | 105| W% 70
0125 | 100A | 4 1143 | 23|25 | M 8x25 | 26 | 11| W% | 70
0130 125A 5 139.8 3.0 | 32 | M10X35 | 36 | 143| W) 30
0144 150A 6 165.2 3.0 32 | M12x45 | 36 | 156 | W', 25
0159 200A 8 216.3 3.0 | 32 | M12x45 | 36 | 181 | W)
0163 250A 10 267.4 4.0 | 50 | M16X50 | 55 | 236 | W%
0178 300A 12 318.5 4.0 | 50 | M16X50 | 60 | 261 | W%




